‘ E I ( I cl-vnl-8-s RECESSED
- DESK BOX

PRODUCT DIAGRAM PRECAUTIONS

1. Forindoor use only.

Only licensed professional electrical contractors should install the product.
Do not insert foreign objects into the socket.

Avoid liquid spills into the outlet.

If the product is malfunctioned, immediate electrical maintenance is required
by professional.

Top cover

(e LS

PRODUCT BRIEF INTRODUCTION
1. Type 45 modules sold separately. Combination of power, data and multimedia
modules can be customized by user as needed.
2. Quick and easy installation.
3. Equipped with brush strip which allows for cables to exit.

TOOLS REQUIRED FOR INSTALLATION

1. Jig saw.
2. Phillips head screwdriver.

Modules card frame

Bottom box

INSTALLATION STEPS 4. Securing the unit

i Adjust height of the mounting brackets to ensure they are flush with the underside of the
1.Cut-out opening desk. When in place, fix the mounting brackets on the both sides of the bottom box using
Make a rectangular cutout (Size: 284x104 mm] on the desired desk or table surface. M3*8 Phillips pan head screw to secure the unit in place, as shown in the below figure.

M3*8 Phillips pan head screw

2. Wiring connection and modules installation 5. Attaching the screw hole cover plugs
1. Remove the modules card frame by unscrewing the three corresponding screws. Conceal the screw heads on the modules card frame by inserting the screw hole cover
2. Feed the stripped area of the power cord through the cable routing hole on the  PLUgs.

bottom box. Wire devices to appropriate terminal at back of the modules. After wiring Cover plugs

connection is completed, affix the modules to the card frame. Then secure the card
frame to the bottom box using screws.

3. Install the strain relief bushing to the power cord and then secure it into the cable
routing hole.

OPERATION INSTRUCTIONS

1. Flip-open the top cover
Plug the power supply into the module.

3. Mounting the unit

Feed power cord through the cutout until the full length of the cable has passed through.
Mount the unit into cutout and be sure it is fully leveled onto the surface.

2. Closing of top cover
Gently press down to close the cover.

ekfgroup.com



) F clvnlfes BCTPAMBAEMbIN
— E K HACTOJIbHBIW JTIIOYOK

CXEMA U3LQENUA MEPbI MPEAOCTOPOXHOCTHU

1. Tonbko ANs UCNOML30BaHUS B MOMELLEHNU.

YcTaHoBKa Npon3BoANTCS NPOGECCUOHaNbHbIM MOHTaXHUKOM.
He BcTaBnsiiTe NOCTOPOHHWE NPEAMETLI B PO3ETKY.
M3beraitTe nonagaHus XuWAKOCTA B PO3ETKY.

Ecnu nsnenuve HeucrnpasHo, Tpe6yeTcg HeMepseHHoe npod)eccmonaanoe TeXHun4ye-
Cckoe OGCHY)I(VIEaHMe.

BepxHsas kpbilwka

CIN =R ORI

KPATKOE ONMUCAHUE U3SOENUA
1. 3nexTpoycTaHOBOYHbIE n3aenus ctaHpapTa 45x45 npuobpetatoTca otgensHo. Bos-
MOXHOCTb CaMOCTOSITeNIbHOr0 NoAbopa MHANBWAYaNbHO| KOMBMHALMKU CUNOBBIX,
MHGOPMALIMOHHBIX U MYNETUMENIAHbBIX PO3ETOK.
2. BbICTpbIV ¥ YAOOHbIA MOHTaX.

3. OcHalleH WweToYyHbIM KabenbHbIM BBOLOM, N0O3BONIALNM KabenaM BbIXoauTb
NP 3aKPbITOM MONOXEHUM NtOYKa.

MpubopHas navenb

MpubopHas kopobka

WHCTPYMEHTbI AJ11 MOHTAXKA

1. 3nekTponwuna.
2. KpecToobpa3Has oTBepTKa.

UHCTPYKLUSA MO MOHTAXY 4. Dukcayus nioyka

OTperynvpyiiTe BbICOTY MOHTaXHbIX KPOHLITEAHOB. YbeauTech, YTO OHM HaXoOAATCS Ha Of-
HOM YpOBHE C HUXHEI NMOoBEpXHOCTbio cTona. Mocne perynmpoBku 3adpuKcupyiiTe KpoH-
MpousseauTe BbIpe3ky NpsiMoyronbHoro oteepcTust (Pasmep: 284x104 MM) Ha BbIBpaHHOW  WTeiiHbl ¢ 06eMX CTOPOH C MOMOLLLI0 BUHTOB M3*8 ¢ nonykpyrioi ronoBKoii 1 KpecTo-
NOBEPXHOCTU. 06pa3sHbIM LWAWLEM, KaK NOKA3aHO Ha PUCYHKE HUXE.

1. Boipe3ka oTBepcTus

M3*8 BUHT c nonykpyrnow ronoskomn
n KPeCT006P33HbIM wnuuemM

2. MopknioueHne NpoBoAKU U MOAYNbHbIX YU 5. YcTaHoBKa 3arnywek ans KpeneXXHbiX 0TBepCTHiA
1. U3BneknTe npnbopHyto NaHenb, OTKPYTUB TPW KPeneXHbIX BUHTA. YKkpoiiTe kpenexHble BUHTbI NPUBOPHbLIX PAMOK C MOMOLLbIO 3arTyLLEek.
2. MponycTuTe 3a4YulLeHHbIA Y4acToK cunoBoro kabens yepes oTBepcTue B npubopHom

Barnywikn

kopobke. Moakntounte cunosolt kabenb k cooTBeTcTBylOWMM Knemmam 3YW. Mocne
3aBepLUeHMs NMOAKIIOYEHNS NPOBOAKM ycTaHoBWUTe Moaynu YW B npubopHyio pamky.
YcraHoBuTe v 3akpenuTte npubopHble paMku K NpubopHoi Kopobke C noMoLLblo Kpe-
MeXHbIX BUHTOB.
3. YctaHoBWTE BTYNKY AJi CHATWUS HanpsKeHUs Ha cuioBoit kabenb u 3adukcupyite
B OTBEPCTUM AN1S NPOKNaaKu kabens.
1

WHCTPYKLMA N0 3KCNNYATALIUU

1. OTKpoiiTe BEPXHIOI0 KPbILIKY
MopknioumTe cunoBoii kabenb K MOAYNbHOW po3eTke.

3. YcTaHoBKa nioyka

npOTHHMTe cunoBol kabenb yepe3 oTBepCTUE B CTOJIE HA MOJTHYIO AJTIUHY. YctaHoBuTE Nnto-
4OK B OTBEpCTUE U yﬁeJJ.VITer, 4YTO OHO BbIPOBHEHO MO NOBEPXHOCTU CTONA.

2. 3aKpoiiTe BepXHIOI0 KPbILIKY
AKKYpaTHO HaXKMUTE Ha KpbILLKY, YTOBbI 3aKpbITh J104OK.




